B

RAL7021

=

RAL 6032

st

s

RAL 2004

Et

S

RAL 5017

03099-11 (hEHEREE

(&'{’r

*

!{

RAL 1021 RAL 3020

ERE

A 4

RAL 7035

7= miiEA

FmER
ALREREET L ENERTSERONERAMAERBS. FH
BERE 180° HEMMAED , At TUREHEMNE, VEBRFRRE
ERVE , REMHRERERS

MR

F 1% 1.0503,
BUERFNEENSE N S IH4W.
EH#E 1.4310,

IR IR B YR PA,

WA
BAEFMYNZRERELATE,
EEMHEEY K KITENZESIL,
EhaERE,
TEHERIREE

- Bufs RAL 7021

- @i RAL 2004

- AR ES RAL 1021

- R\ RAL 3020

- {E854 % RAL 6032

- X\BE® RAL 5017

- % RAL 7035

Ly =N

FRAER 180° ENA A ETNAEMEE,
AR BRI E,

B MR,

BEER .
HRREH,

B4
& E X 2R 03099,
EfI# E 03099-50, 03099-60, 03099-61,

HERT :

AR TIERE  THHRES
B & : TiFeiE , THERS
CH . FIERE , THHEES
D& : HigitgE , wHERES

© norelem www.norelem.com



03099-11 (hEHEREE

® © )

Y : T ,

@B '

| S - |

D sw i Y s
| |
: ~| o> |
. |
! |
. |
= ——
03
D1
A = 1 -
& {@= %_ {\_/=== :

03099-11-040410 A - 4 M10 10 38,5| 25 |20 9 3|16 - 1 8 14
03099-11-0404101 A - 4 M10x1 10 385 | 25 |20] 9 3|/6]| - 1 8 14
03099-11-040510 A - 5 M10 10 385 | 25 (20| 9 316]| - 1,3 8 14
03099-11-0405101 A - 5 M10x1 10 385| 25 |20] 9 3|6]| - 1,3 8 14
03099-11-040610 A - 6 M10 10 385 | 25 |20| 9 316| - 1,8 8 14
03099-11-0406101 A - 6 M10x1 10 38,5| 25 |20 9 3|16 - 1,8 8 14
03099-11-040512 A - 5 M12 12 474 | 30 |25/10,8 36|8 | - 1,3 8 15
03099-11-0405121 A - 5| M12x1,5 12 474 | 30 |25/10,83,6|8| - 1,3 8 15
03099-11-040612 A - 6 M12 12 474 | 30 |25/ 10,8 368 | - 1,8 8 15
03099-11-0406121 A - 6| M12x1,5 12 474 | 30 |25/10,8 3,68 | - 1,8 8 15
03099-11-040812 A - 8 M12 12 474 30 |25/10,8 |36(8 | - 2,3 8 15
03099-11-0408121 A - 8 M12x1,5 12 474 | 30 |25/10,8 36|8 | - 2,3 8 15
03099-11-040616 A - 6 M16 16 61,2 | 40 (32| 14,4 4,8|10| - 1,8 15 35
03099-11-0406161 A - 6 M16x1,5 16 61,2 | 40 |32/ 144 48|10 - 1,8 15 35
03099-11-040816 A - 8 M16 16 61,2 | 40 (32| 14,4 4,8|10| - 2,3 15 35
03099-11-0408161 A - 8 M16x1,5 16 61,2 | 40 |32| 14,4 |48|10| - 2,3 15 35
03099-11-041016 A - 10 M16 16 61,2 | 40 |32/ 144 48|10 - 2,8 15 35
03099-11-0410161 A - 10 M16x1,5 16 61,2 | 40 32| 14,4 /4,8 |10| - 2,8 15 35
03099-11-040820 A - 8 M20 20 71 50 35| 18 6 |12| - 2,3 20 60
03099-11-0408201 A - 8 M20x1,5 20 71 50 35| 18 6 |12| - 2,3 20 60
03099-11-041020 A - 10 M20 20 71 50 |35 18 6 (12| - 2,8 20 60
03099-11-0410201 A - 10 M20x1,5 20 71 50 35| 18 6 |12| - 2,8 20 60
03099-11-041220 A - 12 M20 20 71 50 |35| 18 6 (12| - 3 20 60
03099-11-0412201 A - 12 M20x1,5 20 71 50 35| 18 6 |12| - 3 20 60
03099-11-050410 B - 4 M10 10 385 | 25 |20] 9 3 16|17 1 8 14
03099-11-0504101 B - 4 M10x1 10 385 | 25 (20| 9 3 16|17 1 8 14
03099-11-050510 B - 5 M10 10 385 | 25 |20] 9 3 16|17 1,3 8 14
03099-11-0505101 B - 5 M10x1 10 385 | 25 |20| 9 3 16|17 1,3 8 14
03099-11-050610 B - 6 M10 10 38,5| 25 |20 9 316|17 1,8 8 14
03099-11-0506101 B - 6 M10x1 10 385 | 25 |20] 9 3 16|17 1,8 8 14
03099-11-050512 B - 5 M12 12 474 | 30 |25/ 10,8 |3,6|8| 19 1,3 8 15
03099-11-0505121 B - 5 M12x1,5 12 474 | 30 |25/ 10,8 36|8 | 19 1,3 8 15
03099-11-050612 B - 6 M12 12 474 | 30 (25/10,8|3,6|8| 19 1,8 8 15
03099-11-0506121 B - 6| M12x1,5 12 474 | 30 |25/ 10,8 3,68 | 19 1,8 8 15
03099-11-050812 B - 8 M12 12 474 | 30 |25/10,836|8 | 19 2,3 8 15
03099-11-0508121 B - 8| M12x1,5 12 474 | 30 (25| 10,8 |3,6|8| 19 2,3 8 15
03099-11-050616 B - 6 M16 16 61,2 | 40 |32/ 144 4,8|10| 24 1,8 15 35
03099-11-0506161 B - 6 M16x1,5 16 61,2 | 40 |32 14,4 (4,8|10| 24 1,8 15 35
03099-11-050816 B - 8 M16 16 61,2 | 40 (32| 14,4 |4,8|10| 24 2,3 15 35

© norelem www.norelem.com



03099-11 MM HERTEE

03099-11-0508161 B - 8| M16x1,5 16 61,2| 40 (32| 14,4 148|10| 24 2,3 15 35
03099-11-051016 B - 10 M16 16 61,2 | 40 |32| 14,4 /48|10 24 2,8 15 35
03099-11-0510161 B - 10| M16x1,5 16 61,2 | 40 |32] 14,4 |48 |10| 24 2,8 15 35
03099-11-050820 B - 8 M20 20 7 50 |35| 18 | 6 |12| 30 2,3 20 60
03099-11-0508201 B - 8| M20x1,5 20 71 50 |35| 18 | 6 |12| 30 2,3 20 60
03099-11-051020 B - 10 M20 20 7 50 |35| 18 | 6 |12| 30 2,8 20 60
03099-11-0510201 B - 10| M20x1,5 20 71 50 |35| 18 | 6 |12| 30 2,8 20 60
03099-11-051220 B - 12 M20 20 7 50 |35| 18 | 6 |12| 30 3 20 60
03099-11-0512201 B - 12| M20x1,5 20 71 50 |35| 18 | 6 |12| 30 3 20 60
03099-11-060410 C 26 RAL 7021 4 M10 10 39,526,320/ 10,9(49|6| - 1 8 14
03099-11-0604101 C 2 RAL 7021 4 M10x1 10 395|263 |20/ 109 (49|6| - 1 8 14
03099-11-060510 C E & RAL 7021 5 M10 10 39,5|26,3 |20/ 109 (49|6| - 1,3 8 14
03099-11-0605101 C 2 RAL 7021 5 M10x1 10 39,626,320/ 10,9 (49|6| - 1,3 8 14
03099-11-060610 C 26 RAL 7021 6 M10 10 39,5|26,3 |20/ 10,9 (496 | - 1,8 8 14
03099-11-0606101 C 2 RAL 7021 6 M10x1 10 39,5|26,3|20/109(49|6| - 1,8 8 14
03099-11-060512 C 2 RAL 7021 5 M12 12 48,4 |31,1125/129|57|8| - 1,3 8 15
03099-11-0605121 C E& RAL 7021 5| M12x1,5 12 484 |31,1|25/ 129|578 | - 1,3 8 15
03099-11-060612 C 2 RAL 7021 6 M12 12 48,4 |31,1125/129 (5,78 | - 1,8 8 15
03099-11-0606121 C 26 RAL 7021 6| M12x1,5 12 484 |31,1|25/ 129|578 | - 1,8 8 15
03099-11-060812 C 26 RAL 7021 8 M12 12 48,4 31,1|25/129|57|8| - 2,3 8 15
03099-11-0608121 C 2 RAL 7021 8| M12x1,5 12 48,4 |31,1|25/ 129|578 | - 2,3 8 15
03099-11-060616 C = RAL 7021 6 M16 16 62,3415 |32/166| 7 [10| - 1,8 15 35
03099-11-0606161 C 2 RAL 7021 6| M16x1,5 16 62,3 |415 |32/ 166 | 7 |[10| - 1,8 15 35
03099-11-060816 C 2 RAL 7021 8 M16 16 62,3 41532/ 166 | 7 [10| - 2,3 15 35
03099-11-0608161 C E & RAL 7021 8| M16x1,5 16 62,3 |41,5|32/166| 7 [10| - 2,3 15 35
03099-11-061016 C =& RAL7021 |10 M16 16 62,3 41532/ 166 | 7 |[10| - 2,8 15 35
03099-11-0610161 C =& RAL7021 |10| M16x1,5 16 62,3 |41,5(32| 16,6 | 7 [10| - 2,8 15 35
03099-11-060820 C 26 RAL 7021 8 M20 20 72,3 |51,3(35/ 205 85|12| - 2,3 20 60
03099-11-0608201 C 2 RAL 7021 8| M20x1,5 20 723|513 |35/ 205 (85|12 - 2,3 20 60
03099-11-061020 C E&RAL7021 |10 M20 20 72,351,335 205 85|12| - 2,8 20 60
03099-11-0610201 C 2& RAL7021 |10| M20x1,5 20 72,3 |51,3[35|20,5|85(12| - 2,8 20 60
03099-11-061220 C =6 RAL7021 |12 M20 20 72,351,335 205 85|12| - 3 20 60
03099-11-0612201 C 2 RAL7021 |12] M20x1,5 20 72,3 |51,3[35|20,5|85(12| - 3 20 60
03099-11-0604102 C BE RAL2004 |4 M10 10 39,5|26,3 |20/ 10,9 (49|6 | - 1 8 14
03099-11-06041012 C B RAL2004 |4 M10x1 10 39,5|26,3 |20/ 109 (49|6| - 1 8 14
03099-11-0605102 C & & RAL 2004 5 M10 10 39,626,320/ 109 (49|6| - 1,3 8 14
03099-11-06051012 C & & RAL 2004 5 M10x1 10 39,5|26,3 |20/ 10,9 (496 | - 1,3 8 14
03099-11-0606102 C B& RAL2004 |6 M10 10 39,5|26,3|20/109|49|6| - 1,8 8 14
03099-11-06061012 C & RAL2004 |6 M10x1 10 39,5|26,3 |20/ 109 (496 | - 1,8 8 14
03099-11-0605122 C B RAL2004 |5 M12 12 48,4 |31,1|25/129 (578 | - 1,3 8 15
03099-11-06051212 C & RAL 2004 5| M12x1,5 12 48,4 |31,1|25/ 129|578 | - 1,3 8 15
03099-11-0606122 C & RAL2004 |6 M12 12 48,4 |31,1|25/129 (578 | - 1,8 8 15
03099-11-06061212 C BB RAL2004 |6| M12x1,5 12 484 |31,1|25/129|57|8| - 1,8 8 15
03099-11-0608122 C & RAL2004 |8 M12 12 48,431,125/ 129|578 | - 2,3 8 15
03099-11-06081212 C BB RAL2004 |8 | M12x1,5 12 484 |31,1|25/129(57|8 | - 2,3 8 15
03099-11-0606162 C & RAL2004 |6 M16 16 62,341,532/ 16,6 | 7 |[10| - 1,8 15 35
03099-11-06061612 C BERAL2004 [6| M16x1,5 16 62,3|415|32/166| 7 |10| - 1,8 15 35
03099-11-0608162 C B RAL2004 |8 M16 16 62,3 |415|32/ 166 | 7 (10| - 2,3 15 35
03099-11-06081612 C BB RAL2004 [8| M16x1,5 16 62,3|415|32/166/| 7 |10| - 2,3 15 35
03099-11-0610162 C & RAL 2004 |10 M16 16 62,3 41532/ 166 | 7 [10| - 2,8 15 35
03099-11-06101612 C & RAL2004 |10 M16x1,5 16 62,3 |415|32/166| 7 |10| - 2,8 15 35
03099-11-0608202 C & RAL2004 |8 M20 20 72,351,335 205 85|12| - 2,3 20 60
03099-11-06082012 C &t RAL2004 |8 | M20x1,5 20 72,3 |51,3|35/20,5|8,5(12| - 2,3 20 60
03099-11-0610202 C & RAL2004 |10 M20 20 72,351,335/ 205 85|12| - 2,8 20 60
03099-11-06102012 C & RAL2004 |10/ M20x1,5 20 72,3|51,3|35/20,5(8,5|12| - 2,8 20 60
03099-11-0612202 C & RAL2004 |12 M20 20 72,3 |51,3(35/ 205 85|12| - 3 20 60
03099-11-06122012 C & RAL2004 |12 M20x1,5 20 72,3|51,3|35/205(85|12| - 3 20 60
03099-11-06041016 C #E RAL 1021 4 M10 10 39,5|26,3 |20/ 109 (49|6| - 1 8 14
03099-11-060410116 C #HE RAL 1021 4 M10x1 10 39,526,320/ 10,9 (496 | - 1 8 14
03099-11-06051016 C #E RAL 1021 5 M10 10 39,5|26,3 |20/ 109 (496 | - 1,3 8 14
03099-11-060510116 C HE RAL 1021 5 M10x1 10 39,5|26,3|20/10,9|49|6| - 1,3 8 14
03099-11-06061016 C #HE RAL 1021 6 M10 10 39,5|26,3 |20/ 109 (49|6| - 1,8 8 14
03099-11-060610116 C #E RAL 1021 6 M10x1 10 39,5|26,3 |20/ 109 (49|6| - 1,8 8 14
03099-11-06051216 C #HE RAL 1021 5 M12 12 48,431,125/ 129|578 | - 1,3 8 15

© norelem www.norelem.com



03099-11 MM HERTEE

03099-11-060512116 C #HE RAL 1021 5| M12x1,5 12 48,4 |31,1 (25 12,9 |57 |8 1,3 8 15
03099-11-06061216 C #E RAL 1021 6 M12 12 48,431,125/ 12,9 (5,7 |8 1,8 8 15
03099-11-060612116 C #HE RAL 1021 6| M12x1,5 12 484 |31,1|25/ 12957 |8 1,8 8 15
03099-11-06081216 C #E RAL 1021 8 M12 12 48,431,125/ 12,957 |8 2,3 8 15
03099-11-060812116 C #HE RAL 1021 8| M12x1,5 12 48,4 |31,1(25/129|5,7|8 2,3 8 15
03099-11-06061616 C #HE RAL 1021 6 M16 16 62,3 41,532/ 16,6 | 7 |10 1,8 15 35
03099-11-060616116 C #E RAL 1021 6| M16x1,5 16 62,3 |41,5(32/ 166 | 7 |10 1,8 15 35
03099-11-06081616 C #HE RAL 1021 8 M16 16 62,3 41532166 | 7 |10 2,3 15 35
03099-11-060816116 C #HE RAL 1021 8| M16x1,5 16 62,3 |41,5(32/ 166 | 7 |10 2,3 15 35
03099-11-06101616 C HEB RAL 1021 |10 M16 16 62,341,532/ 16,6 | 7 |10 2,8 15 35
03099-11-061016116 C #® RAL 1021 [10| M16x1,5 16 62,3 |41,5(32/166| 7 |10 2,8 15 35
03099-11-06082016 C #E RAL 1021 8 M20 20 72,351,335 2058512 2,3 20 60
03099-11-060820116 C #HE RAL 1021 8| M20x1,5 20 72,3|51,3|35|20,5|85|12 2,3 20 60
03099-11-06102016 C #® RAL 1021 |10 M20 20 72,351,335 20,5|85|12 2,8 20 60
03099-11-061020116 C #H® RAL 1021 |10| M20x1,5 20 72,3 |51,3|35]205|8,5|12 2,8 20 60
03099-11-06122016 C #HE RAL 1021 |12 M20 20 72,351,335 2058512 3 20 60
03099-11-061220116 C #®RAL 1021 |12| M20x1,5 20 72,3 |51,3|35|20,5|8,5|12 3 20 60
03099-11-06041084 C 16 RAL3020 |4 M10 10 39,5|26,3 20|/ 10,9 496 1 8 14
03099-11-060410184 C ¢ RAL3020 |4 M10x1 10 39,526,320 10,9 496 1 8 14
03099-11-06051084 C 16 RAL 3020 |5 M10 10 39,5|26,3|20/ 10,9 |49|6 1,3 8 14
03099-11-060510184 C ¢ RAL3020 |5 M10x1 10 39,5|26,3 20| 10,9 49| 6 1,3 8 14
03099-11-06061084 C ¢ RAL3020 |6 M10 10 39,5263 20| 10,9 (496 1,8 8 14
03099-11-060610184 C I RAL3020 |6 M10x1 10 39,526,320/ 10,9 49| 6 1,8 8 14
03099-11-06051284 C ¢ RAL3020 |5 M12 12 48,431,125/ 129 (5,7 |8 1,3 8 15
03099-11-060512184 C B RAL3020 | 5| M12x1,5 12 484 |31,1(25/129 57| 8 1,3 8 15
03099-11-06061284 C ¢ RAL3020 |6 M12 12 48,431,125/ 12957 |8 1,8 8 15
03099-11-060612184 C & RAL3020 | 6| M12x1,5 12 484 |31,1(25/129(57|8 1,8 8 15
03099-11-06081284 C ¢ RAL 3020 |8 M12 12 48,431,125/ 12,9 |5,7| 8 2,3 8 15
03099-11-060812184 C & RAL3020 |8 | M12x1,5 12 484 |31,1(25/129(57|8 2,3 8 15
03099-11-06061684 C 1B RAL3020 |6 M16 16 62,3 41532/ 166 | 7 |10 1,8 15 35
03099-11-060616184 C I RAL3020 | 6| M16x1,5 16 62,3 |41,5(32|16,6| 7 |10 1,8 15 35
03099-11-06081684 C ¢ RAL3020 |8 M16 16 62,3 41532/ 16,6 | 7 |10 2,3 15 35
03099-11-060816184 C T8 RAL3020 |8 | M16x1,5 16 62,3 |41,5(32|166| 7 |10 2,3 15 35
03099-11-06101684 C 6 RAL 3020 |10 M16 16 62,3 41,532/ 16,6 | 7 |10 2,8 15 35
03099-11-061016184 C 418 RAL 3020 |10| M16x1,5 16 62,3 |41,5(32/16,6| 7 |10 2,8 15 35
03099-11-06082084 C ¢ RAL 3020 |8 M20 20 72,351,335 20,5|85|12 2,3 20 60
03099-11-060820184 C ¢ RAL3020 |8 | M20x1,5 20 72,3 |51,3(35|20,5|8,5[12 2,3 20 60
03099-11-06102084 C I RAL 3020 |10 M20 20 72,351,335/ 20,5|8,5/|12 2,8 20 60
03099-11-061020184 C ¢ RAL 3020 |10| M20x1,5 20 72,3 |51,3(35|20,5|8,5[12 2,8 20 60
03099-11-06122084 C 418 RAL 3020 |12 M20 20 72,351,335 2058512 3 20 60
03099-11-061220184 C 16 RAL 3020 |12| M20x1,5 20 72,3 |51,3(35|20,5|8,5/(12 3 20 60
03099-11-06041086 C & RAL6032 |4 M10 10 39,526,320 10,9 496 1 8 14
03099-11-060410186 C e RAL 6032 | 4 M10x1 10 39,5|26,3|20/ 10,9 |49|6 1 8 14
03099-11-06051086 C & RAL 6032 5 M10 10 39,5|26,3 20| 10,9 49| 6 1,3 8 14
03099-11-060510186 C & RAL6032 |5 M10x1 10 39,5263 20| 10,9 (496 1,3 8 14
03099-11-06061086 C e RAL6032 |6 M10 10 39,526,320/ 10,9 49| 6 1,8 8 14
03099-11-060610186 C & RAL6032 |6 M10x1 10 39,5|26,3 20| 10,9 496 1,8 8 14
03099-11-06051286 C & RAL 6032 5 M12 12 48,4 131,1|25/ 129|578 1,3 8 15
03099-11-060512186 C & RAL 6032 5| M12x1,5 12 48,4 |31,1 |25/ 12,9 |57 |8 1,3 8 15
03099-11-06061286 C & RAL6032 |6 M12 12 48,431,125/ 12,9 (5,7 |8 1,8 8 15
03099-11-060612186 C e RAL6032 [ 6| M12x1,5 12 484 31,125/ 129|578 1,8 8 15
03099-11-06081286 C & RAL6032 |8 M12 12 48,431,125/ 12,9 (5,7 |8 2,3 8 15
03099-11-060812186 C e RAL6032 |8 | M12x1,5 12 484 | 31,1|25/ 12,9 |57 |8 2,3 8 15
03099-11-06061686 C U RAL6032 |6 M16 16 62,3 41,532/ 16,6 | 7 |10 1,8 15 35
03099-11-060616186 C i RAL6032 [ 6| M16x1,5 16 62,3 |41,5(|32/16,6| 7 |10 1,8 15 35
03099-11-06081686 C e RAL 6032 |8 M16 16 62,341,532/ 16,6 | 7 |10 2,3 15 35
03099-11-060816186 C i RAL6032 |8 | M16x1,5 16 62,3 |41,5(32/166| 7 |10 2,3 15 35
03099-11-06101686 C e RAL 6032 |10 M16 16 62,3 41532/ 166 | 7 |10 2,8 15 35
03099-11-061016186 C e RAL6032 (10| M16x1,5 16 62,3 |41,5|32/166| 7 |10 2,8 15 35
03099-11-06082086 C & RAL6032 |8 M20 20 72,351,335 20,5|85|12 2,3 20 60
03099-11-060820186 C e RAL6032 | 8| M20x1,5 20 72,3|51,3|35/205(85|12 2,3 20 60
03099-11-06102086 C & RAL 6032 |10 M20 20 72,351,335 2058512 2,8 20 60
03099-11-061020186 C e RAL 6032 10| M20x1,5 20 72,3 |51,3|35/20,5|8,5[12 2,8 20 60
03099-11-06122086 C & RAL 6032 |12 M20 20 72,351,335 2058512 3 20 60

© norelem www.norelem.com



03099-11 MM HERTEE

03099-11-061220186 C & RAL6032 [12] M20x1,5 20 72,3 |51,3|35]/20,5(8,5|12| - 3 20 60
03099-11-06041087 C % RAL 5017 | 4 M10 10 39,5|26,3 |20/ 109 (49|6| - 1 8 14
03099-11-060410187 C E® RALS017 | 4 M10x1 10 39,626,320/ 109 (496 | - 1 8 14
03099-11-06051087 C #E® RAL5017 |5 M10 10 39,5|26,3 |20/ 109 (49|6| - 1,3 8 14
03099-11-060510187 C E® RAL 5017 5 M10x1 10 39,626,320/ 10,9 (49|6| - 1,3 8 14
03099-11-06061087 C %E® RAL5017 |6 M10 10 395|263 |20/ 10,9 (49|6| - 1,8 8 14
03099-11-060610187 C % RAL 5017 | 6 M10x1 10 39,5|26,3 |20/ 109 (49|6| - 1,8 8 14
03099-11-06051287 C E® RAL 5017 5 M12 12 48,4 31,1125/129 (578 | - 1,3 8 15
03099-11-060512187 C ¥ RAL 5017 5| M12x1,5 12 48,431,125/ 129 |57 |8 | - 1,3 8 15
03099-11-06061287 C E® RAL5017 |6 M12 12 48,4 31,1125/12,9 (5,78 | - 1,8 8 15
03099-11-060612187 C HE®RALS017 | 6| M12x1,5 12 48,431,125/ 129|57|8| - 1,8 8 15
03099-11-06081287 C ¥ RAL 5017 | 8 M12 12 48,4 |31,1|25/129(57|8| - 2,3 8 15
03099-11-060812187 C E®RALS017 | 8| M12x1,5 12 48,431,125/ 129|57|8| - 2,3 8 15
03099-11-06061687 C ¥%E® RAL5017 |6 M16 16 62,3 41532/ 166 | 7 [10| - 1,8 15 35
03099-11-060616187 C E®BRALS017 | 6| M16x1,5 16 62,3 |415(32/166| 7 |10| - 1,8 15 35
03099-11-06081687 C %E® RAL5017 |8 M16 16 62,3 41532/ 166 | 7 |[10| - 2,3 15 35
03099-11-060816187 C ¥ RAL 5017 | 8| M16x1,5 16 62,3 |41,5(32/16,6 | 7 |10| - 2,3 15 35
03099-11-06101687 C E® RAL5017 |10 M16 16 62,3 41532/ 166 | 7 |[10| - 2,8 15 35
03099-11-061016187 C ¥%® RAL5017 [10| M16x1,5 16 62,3 |41,5(32/166| 7 |10| - 2,8 15 35
03099-11-06082087 C E® RAL5017 |8 M20 20 72,351,335/ 205 |85|12| - 2,3 20 60
03099-11-060820187 C HE®RALS017 | 8| M20x1,5 20 72,3|51,3|35/205|85|12| - 2,3 20 60
03099-11-06102087 C ¥E® RAL5017 |10 M20 20 72,351,335 205 85|12 - 2,8 20 60
03099-11-061020187 C ¥%E® RAL5017 10| M20x1,5 20 72,3 |51,3|35/205|85|12| - 2,8 20 60
03099-11-06122087 C #E® RAL5017 |12 M20 20 72,351,335 205 85|12| - 3 20 60
03099-11-061220187 C ¥ RAL 5017  |12| M20x1,5 20 72,3|51,3|35|20,5|85|12| - 3 20 60
03099-11-06041088 C e RAL 7035 |4 M10 10 39,526,320/ 109 (496 | - 1 8 14
03099-11-060410188 C & RAL7035 |4 M10x1 10 39,5|263 |20/ 109 (496 | - 1 8 14
03099-11-06051088 C & RAL 7035 5 M10 10 39,626,320/ 10,9 (49|6| - 1,3 8 14
03099-11-060510188 C & RAL 7035 5 M10x1 10 39,5|26,3 |20/ 109 (496 | - 1,3 8 14
03099-11-06061088 C e RAL7035 |6 M10 10 39,526,320/ 109 (49|6| - 1,8 8 14
03099-11-060610188 C e RAL7035 |6 M10x1 10 39,626,320/ 109 (496 | - 1,8 8 14
03099-11-06051288 C & RAL 7035 5 M12 12 48,4 |31,1|25/129 (578 | - 1,3 8 15
03099-11-060512188 C & RAL 7035 5| M12x1,56 12 48,4 |31,1|25/ 129|578 | - 1,3 8 15
03099-11-06061288 C & RAL7035 |6 M12 12 48,4 |31,1|25/129 (578 | - 1,8 8 15
03099-11-060612188 C e RAL7035 | 6| M12x1,5 12 484 31,125/ 129|578 | - 1,8 8 15
03099-11-06081288 C e RAL7035 |8 M12 12 48,431,125/ 129|578 | - 2,3 8 15
03099-11-060812188 C K& RAL7035 |8 | M12x1,5 12 484 |31,1|25/129(57|8 | - 2,3 8 15
03099-11-06061688 C & RAL7035 |6 M16 16 62,3 |415|32/166 | 7 (10| - 1,8 15 35
03099-11-060616188 C & RAL7035 |6 M16x1,5 16 62,3 |415|32/166/| 7 |10| - 1,8 15 35
03099-11-06081688 C it RAL 7035 |8 M16 16 62,3 41532/ 166 | 7 [10| - 2,3 15 35
03099-11-060816188 C i RAL7035 |8 M16x1,5 16 62,341,532/ 166 7 |10| - 2,3 15 35
03099-11-06101688 C & RAL 7035 |10 M16 16 62,3 41532/ 166 | 7 [10| - 2,8 15 35
03099-11-061016188 C i RAL7035 |10| M16x1,5 16 62,3 |41,5|32/166| 7 |10| - 2,8 15 35
03099-11-06082088 C & RAL7035 |8 M20 20 72,3 /51,3354 205 85|12| - 2,3 20 60
03099-11-060820188 C K& RAL7035 |8 | M20x1,5 20 72,3|51,3|35/20,5(85|12| - 2,3 20 60
03099-11-06102088 C & RAL 7035 |10 M20 20 72,351,335/ 205 85|12| - 2,8 20 60
03099-11-061020188 C & RAL7035 |10/ M20x1,5 20 72,3|51,3|35/20,5(8,5|12| - 2,8 20 60
03099-11-06122088 C e RAL 7035 |12 M20 20 72,351,335/ 205 |85|12| - 3 20 60
03099-11-061220188 C e RAL7035 |12 M20x1,5 20 72,3|51,3|35/205(85|12| - 3 20 60

03099-11-070410 D = RAL 7021 4 M10 10 39,526,320 10,9 |49|6 | 17 1 8 14

03099-11-0704101 D 26 RAL 7021 4 M10x1 10 39,5|26,3 20| 10,9 |49|6 | 17 1 8 14

03099-11-070510 D 26 RAL 7021 5 M10 10 39,526,320 10,9 |49|6 | 17 1,3 8 14

03099-11-0705101 D E & RAL 7021 5 M10x1 10 39,526,320 10,9 |49|6 | 17 1,3 8 14

03099-11-070610 D 2 RAL 7021 6 M10 10 39,5263 20| 10,9 |49|6 | 17 1,8 8 14

03099-11-0706101 D =6 RAL 7021 6 M10x1 10 39,526,320 10,9 |49|6 | 17 1,8 8 14

03099-11-070512 D 26 RAL 7021 5 M12 12 48,431,125/ 12,9 5,78 | 19 1,3 8 15

03099-11-0705121 D 2 RAL 7021 5| M12x1,5 12 48,4 |31,1 (25 12,9 578 | 19 1,3 8 15

03099-11-070612 D E& RAL 7021 6 M12 12 48,431,125/ 12,9 |57|8 | 19 1,8 8 15

03099-11-0706121 D 2 RAL 7021 6| M12x1,5 12 484 |31,1|25/ 129|578 | 19 1,8 8 15

03099-11-070812 D 26 RAL 7021 8 M12 12 48,431,125 12,9 |57|8 | 19 2,3 8 15

03099-11-0708121 D 2 RAL 7021 8| M12x1,5 12 48,431,125/ 12,9 |57|8| 19 2,3 8 15

03099-11-070616 D 2 RAL 7021 6 M16 16 62,3 41532/ 16,6 | 7 |10| 24 1,8 15 35

03099-11-0706161 D E & RAL 7021 6| M16x1,5 16 62,3 |41,5|32/ 16,6 | 7 |10| 24 1,8 15 35

03099-11-070816 D 2 RAL 7021 8 M16 16 62,3 41532/ 16,6 | 7 |10| 24 2,3 15 35

© norelem www.norelem.com



03099-11 MM HERTEE

03099-11-0708161 D 2 RAL 7021 8| M16x1,5 16 62,3 |41,5|32/ 16,6 | 7 |10| 24 2,3 15 35
03099-11-071016 D E&BRAL7021 |10 M16 16 62,341,532/ 16,6 | 7 |10| 24 2,8 15 35
03099-11-0710161 D 2 RAL7021 |10| M16x1,5 16 62,3 |41,5(32| 16,6 | 7 |10] 24 2,8 15 35
03099-11-070820 D = RAL 7021 8 M20 20 72,351,335 20,5|8,5|12| 30 2,3 20 60
03099-11-0708201 D 26 RAL 7021 8| M20x1,5 20 72,3|51,3|35|20,5|85|12| 30 2,3 20 60
03099-11-071020 D 2 RAL7021 |10 M20 20 72,351,335 20,5|8,5|12| 30 2,8 20 60
03099-11-0710201 D E&®RAL7021 |10| M20x1,5 20 72,3 |51,3|35|20,5|8,5|12| 30 2,8 20 60
03099-11-071220 D B RAL7021 |12 M20 20 72,351,335/ 20,5|8,5|12| 30 3 20 60
03099-11-0712201 D =6 RAL7021  |12] M20x1,5 20 72,3 |51,3[35/20,5(8,5[12| 30 3 20 60
03099-11-0704102 D & RAL2004 |4 M10 10 39,526,320 10,9 |49|6 | 17 1 8 14
03099-11-07041012 D BE RAL2004 |4 M10x1 10 39,5263 20| 10,9 |49|6 | 17 1 8 14
03099-11-0705102 D B RAL2004 |5 M10 10 39,526,320 10,9 |49|6 | 17 1,3 8 14
03099-11-07051012 D & & RAL 2004 5 M10x1 10 39,56|26,3|20) 10,9 |49|6 | 17 1,3 8 14
03099-11-0706102 D BE RAL2004 |6 M10 10 39,526,320 10,9 |49|6 | 17 1,8 8 14
03099-11-07061012 D & RAL2004 |6 M10x1 10 39,5|26,3|20/10,9 |49|6 | 17 1,8 8 14
03099-11-0705122 D & & RAL 2004 5 M12 12 48,431,125/ 12,9 |57|8 | 19 1,3 8 15
03099-11-07051212 D B RAL2004 |5 | M12x1,5 12 48,4 |31,1|25/12,9 |57 |8 19 1,3 8 15
03099-11-0706122 D BB RAL2004 |6 M12 12 48,431,125/ 12,9 /5,78 | 19 1,8 8 15
03099-11-07061212 D BERAL2004 [6| M12x1,5 12 484 |31,1|25/129 |57 |8 19 1,8 8 15
03099-11-0708122 D B RAL2004 |8 M12 12 48,4 131,1(25/129|57|8| 19 2,3 8 15
03099-11-07081212 D BB RAL2004 [8| M12x1,5 12 484 |31,1|25/129|57|8 | 19 2,3 8 15
03099-11-0706162 D BE RAL2004 |6 M16 16 62,3 41532/ 16,6 | 7 (10| 24 1,8 15 35
03099-11-07061612 D BB RAL2004 [6| M16x1,5 16 62,3 |41,5|32/ 166 | 7 |10] 24 1,8 15 35
03099-11-0708162 D 5& RAL2004 |8 M16 16 62,3 41532/ 16,6 | 7 (10| 24 2,3 15 35
03099-11-07081612 D B RAL2004 |8 | M16x1,5 16 62,3|41,5|32/ 16,6 | 7 |10| 24 2,3 15 35
03099-11-0710162 D & RAL2004 |10 M16 16 62,3 41532/ 16,6 | 7 |10| 24 2,8 15 35
03099-11-07101612 D && RAL2004 [10| M16x1,5 16 62,3 |41,5|32/16,6| 7 |10| 24 2,8 15 35
03099-11-0708202 D & RAL2004 |8 M20 20 72,351,335 20,5|8,5|12| 30 2,3 20 60
03099-11-07082012 D & RAL2004 |8 | M20x1,5 20 72,3]|51,3|35]/20,58,5|12| 30 2,3 20 60
03099-11-0710202 D & RAL 2004 |10 M20 20 72,351,335 20,5|8,5|12| 30 2,8 20 60
03099-11-07102012 D & RAL2004 [10| M20x1,5 20 72,3|51,3|35/20,5|8,5|12] 30 2,8 20 60
03099-11-0712202 D & RAL2004 |12 M20 20 72,351,335 20,5|8,5|12| 30 3 20 60
03099-11-07122012 D & RAL2004 [12| M20x1,5 20 72,351,335/ 20,5 |8,5|12| 30 3 20 60
03099-11-07041016 D #HE RAL 1021 4 M10 10 39,526,320 10,9 |49|6 | 17 1 8 14
03099-11-070410116 D #E RAL 1021 4 M10x1 10 39,526,320 10,9 |49|6 | 17 1 8 14
03099-11-07051016 D #HE RAL 1021 5 M10 10 39,5|26,3 20| 10,9 |49|6 | 17 1,3 8 14
03099-11-070510116 D #HE RAL 1021 5 M10x1 10 39,526,320 10,9 |49|6 | 17 1,3 8 14
03099-11-07061016 D HE RAL 1021 6 M10 10 39,5|26,3|20/10,9 496 | 17 1,8 8 14
03099-11-070610116 D #HE RAL 1021 6 M10x1 10 39,5263 (20| 10,9 |49|6 | 17 1,8 8 14
03099-11-07051216 D #E RAL 1021 5 M12 12 48,431,125/ 12,9 |57|8 | 19 1,3 8 15
03099-11-070512116 D #HE RAL 1021 5| M12x1,5 12 48,4 |31,1|25 12,9 578 | 19 1,3 8 15
03099-11-07061216 D #E RAL 1021 6 M12 12 48,431,125 12,9 |57|8 | 19 1,8 8 15
03099-11-070612116 D #HE RAL 1021 6| M12x1,5 12 48,431,125/ 12,9 |57|8| 19 1,8 8 15
03099-11-07081216 D #HE RAL 1021 8 M12 12 48,431,125/ 12,9 5,78 | 19 2,3 8 15
03099-11-070812116 D #E RAL 1021 8| M12x1,5 12 484 |31,1|25/ 129578 | 19 2,3 8 15
03099-11-07061616 D #HE RAL 1021 6 M16 16 62,3 141532/ 16,6 | 7 |10| 24 1,8 15 35
03099-11-070616116 D #HE RAL 1021 6| M16x1,5 16 62,3 |41,5|32/ 16,6 | 7 |10| 24 1,8 15 35
03099-11-07081616 D HE RAL 1021 8 M16 16 62,3 |41,5(32/ 16,6 | 7 10| 24 2,3 15 35
03099-11-070816116 D #HE RAL 1021 8| M16x1,5 16 62,3 |41,5|32/ 166 | 7 |10| 24 2,3 15 35
03099-11-07101616 D #® RAL 1021 |10 M16 16 62,3 41532/ 16,6 | 7 |10| 24 2,8 15 35
03099-11-071016116 D #® RAL 1021 |10| M16x1,5 16 62,3 |41,5(32/16,6| 7 [10| 24 2,8 15 35
03099-11-07082016 D #E RAL 1021 8 M20 20 72,351,335 20,5|8,5|12| 30 2,3 20 60
03099-11-070820116 D #E RAL 1021 8| M20x1,5 20 72,3|51,3|35|20,5|8,5|12| 30 2,3 20 60
03099-11-07102016 D #E RAL 1021 |10 M20 20 72,351,335/ 20,5|85|12| 30 2,8 20 60
03099-11-071020116 D #® RAL 1021 [10| M20x1,5 20 72,3 |51,3(35|20,5(8,5(12| 30 2,8 20 60
03099-11-07122016 D HE RAL 1021 |12 M20 20 72,351,335 20,5|8,5|12| 30 3 20 60
03099-11-071220116 D #® RAL 1021 [12| M20x1,5 20 72,3 |51,3(35|20,5(8,5(12| 30 3 20 60
03099-11-07041084 D S RAL3020 |4 M10 10 39,526,320 10,9 |49|6 | 17 1 8 14
03099-11-070410184 D ¢ RAL3020 |4 M10x1 10 39,526,320 10,9 |49|6 | 17 1 8 14
03099-11-07051084 D 6 RAL 3020 5 M10 10 39,526,320 10,9 |49|6 | 17 1,3 8 14
03099-11-070510184 D 4I6 RAL 3020 5 M10x1 10 39,5|26,3|20/10,9 496 | 17 1,3 8 14
03099-11-07061084 D ¢ RAL3020 |6 M10 10 39,5263 20| 10,9 |49|6 | 17 1,8 8 14
03099-11-070610184 D B RAL3020 |6 M10x1 10 39,526,320 10,9 |49|6 | 17 1,8 8 14
03099-11-07051284 D 6 RAL 3020 5 M12 12 48,431,125/ 12,9 578 | 19 1,3 8 15

© norelem www.norelem.com



03099-11 MM HERTEE

03099-11-070512184 D I RAL 3020 5| M12x1,5 12 48,4 |31,1 (25 12,9 578 | 19 1,3 8 15
03099-11-07061284 D 41 RAL3020 |6 M12 12 48,431,125/ 12,9 |57|8 | 19 1,8 8 15
03099-11-070612184 D I8 RAL3020 |6 | M12x1,5 12 484 |31,1(25/12,9|57|8]| 19 1,8 8 15
03099-11-07081284 D ¢ RAL3020 |8 M12 12 48,431,125 12,9 |57|8 | 19 2,3 8 15
03099-11-070812184 D T8 RAL3020 |8 | M12x1,5 12 48,4 |31,1(25/12,9|57|8]| 19 2,3 8 15
03099-11-07061684 D ¢ RAL3020 |6 M16 16 62,3 41532/ 16,6 | 7 (10| 24 1,8 15 35
03099-11-070616184 D 1B RAL3020 | 6| M16x1,5 16 62,3 |41,5(32/166| 7 |10| 24 1,8 15 35
03099-11-07081684 D ¢ RAL3020 |8 M16 16 62,3 41532/ 16,6 | 7 |10| 24 2,3 15 35
03099-11-070816184 D T8 RAL3020 |8 | M16x1,5 16 62,3 |41,5(32|16,6 | 7 |10] 24 2,3 15 35
03099-11-07101684 D I6 RAL 3020 |10 M16 16 62,341,532/ 16,6 | 7 |10| 24 2,8 15 35
03099-11-071016184 D 6 RAL 3020 |10| M16x1,5 16 62,3 |41,5(32| 16,6 | 7 |10] 24 2,8 15 35
03099-11-07082084 D B RAL3020 |8 M20 20 72,351,335 20,5|8,5|12| 30 2,3 20 60
03099-11-070820184 D T RAL3020 |8 | M20x1,5 20 72,3|51,3[35/20,5|8,5|12| 30 2,3 20 60
03099-11-07102084 D 6 RAL 3020 |10 M20 20 72,351,335 20,5|8,5|12| 30 2,8 20 60
03099-11-071020184 D T RAL 3020 |10| M20x1,5 20 72,3 |51,3|35/20,5|8,5[12| 30 2,8 20 60
03099-11-07122084 D 6 RAL3020 |12 M20 20 72,351,335 20,5|8,5|12| 30 3 20 60
03099-11-071220184 D 418 RAL 3020 |12| M20x1,5 20 72,3 |51,3|35|20,5|8,5(12| 30 3 20 60
03099-11-07041086 D & RAL 6032 4 M10 10 39,526,320 10,9 |49|6 | 17 1 8 14
03099-11-070410186 D & RAL 6032 4 M10x1 10 39,526,320 10,9 |49|6 | 17 1 8 14
03099-11-07051086 D & RAL 6032 5 M10 10 39,5|26,3|20/10,9 |49|6 | 17 1,3 8 14
03099-11-070510186 D & RAL 6032 5 M10x1 10 39,526,320 10,9 |49|6 | 17 1,3 8 14
03099-11-07061086 D & RAL 6032 6 M10 10 39,526,320 10,9 |49|6 | 17 1,8 8 14
03099-11-070610186 D & RAL 6032 6 M10x1 10 39,526,320 10,9 |49|6 | 17 1,8 8 14
03099-11-07051286 D & RAL 6032 5 M12 12 48,431,125 12,9 |57|8 | 19 1,3 8 15
03099-11-070512186 D s RAL 6032 5| M12x1,5 12 48,4 |31,1 (25 12,9 578 | 19 1,3 8 15
03099-11-07061286 D & RAL 6032 6 M12 12 48,431,125/ 12,9 578 | 19 1,8 8 15
03099-11-070612186 D & RAL 6032 6| M12x1,5 12 484 |31,1|25/12957|8 | 19 1,8 8 15
03099-11-07081286 D & RAL 6032 8 M12 12 48,431,125/ 12,9 /5,78 | 19 2,3 8 15
03099-11-070812186 D X RAL 6032 8| M12x1,5 12 484 |31,1|25/ 129578 | 19 2,3 8 15
03099-11-07061686 D i RAL 6032 6 M16 16 62,3 41532/ 166 | 7 |10| 24 1,8 15 35
03099-11-070616186 D & RAL 6032 6| M16x1,5 16 62,3 |41,5|32/ 16,6 | 7 |10| 24 1,8 15 35
03099-11-07081686 D & RAL 6032 8 M16 16 62,3 41532/ 16,6 | 7 (10| 24 2,3 15 35
03099-11-070816186 D & RAL 6032 8| M16x1,5 16 62,3 |41,5|32/ 16,6 | 7 |10| 24 2,3 15 35
03099-11-07101686 D & RAL 6032 |10 M16 16 62,3 41532 16,6 | 7 (10| 24 2,8 15 35
03099-11-071016186 D it RAL6032 [10| M16x1,5 16 62,3 |41,5|32| 16,6 | 7 |10| 24 2,8 15 35
03099-11-07082086 D & RAL 6032 8 M20 20 72,351,335 20,5|8,5|12| 30 2,3 20 60
03099-11-070820186 D & RAL 6032 8| M20x1,5 20 72,3|51,3|35|20,5|85|12| 30 2,3 20 60
03099-11-07102086 D & RAL 6032 |10 M20 20 72,3 |51,3|35|20,5|85|12| 30 2,8 20 60
03099-11-071020186 D & RAL6032 10| M20x1,5 20 72,3|51,3|35/20,5|8,5|12] 30 2,8 20 60
03099-11-07122086 D it RAL 6032 |12 M20 20 72,351,335 20,5|8,5|12| 30 3 20 60
03099-11-071220186 D e RAL6032 [12| M20x1,5 20 72,3|51,3|35/20,58,5|12] 30 3 20 60
03099-11-07041087 D %E® RAL5017 |4 M10 10 39,5263 (20| 10,9 |49|6 | 17 1 8 14
03099-11-070410187 D E® RAL5017 | 4 M10x1 10 39,5|26,3|20/10,9 496 | 17 1 8 14
03099-11-07051087 D %E® RAL 5017 5 M10 10 39,5263 20| 10,9 |49|6 | 17 1,3 8 14
03099-11-070510187 D ¥E® RAL5017 |5 M10x1 10 39,526,320 10,9 |49|6 | 17 1,3 8 14
03099-11-07061087 D E® RALS017 |6 M10 10 39,526,320 10,9 |49|6 | 17 1,8 8 14
03099-11-070610187 D #E® RAL5017 |6 M10x1 10 39,526,320 10,9 |49|6 | 17 1,8 8 14
03099-11-07051287 D E® RAL 5017 5 M12 12 48,4 31,1(25/ 129|578 | 19 1,3 8 15
03099-11-070512187 D E® RAL 5017 5| M12x1,5 12 48,4 |31,1 |25 12,9 578 | 19 1,3 8 15
03099-11-07061287 D ¥E® RAL5017 |6 M12 12 48,431,125 12,9 |57|8 | 19 1,8 8 15
03099-11-070612187 D EBRALS017 | 6| M12x1,5 12 484 |31,1(25/129(57|8 | 19 1,8 8 15
03099-11-07081287 D ¥%E® RAL5017 |8 M12 12 48,431,125 12,9 |57|8 | 19 2,3 8 15
03099-11-070812187 D ¥ RALS5017 | 8| M12x1,5 12 48,4 |31,1|25/ 12,9 |57 |8 19 2,3 8 15
03099-11-07061687 D E® RALS017 |6 M16 16 62,3 41532/ 16,6 | 7 |10| 24 1,8 15 35
03099-11-070616187 D #E®RAL5017 | 6| M16x1,5 16 62,3 |41,5(32/16,6| 7 [10| 24 1,8 15 35
03099-11-07081687 D E® RAL5017 |8 M16 16 62,341,532/ 16,6 | 7 |10| 24 2,3 15 35
03099-11-070816187 D HE® RAL5017 | 8| M16x1,5 16 62,3 |41,5(32/166| 7 [10| 24 2,3 15 35
03099-11-07101687 D & RAL 5017 |10 M16 16 62,3 41532/ 16,6 | 7 |10| 24 2,8 15 35
03099-11-071016187 D %E® RAL5017 |10| M16x1,5 16 62,3 |41,5(32/166| 7 [10| 24 2,8 15 35
03099-11-07082087 D ¥%® RAL5017 |8 M20 20 72,351,335 20,5|8,5|12| 30 2,3 20 60
03099-11-070820187 D E® RAL5S017 | 8| M20x1,5 20 72,3 |51,3[35|20,5(8,5[12| 30 2,3 20 60
03099-11-07102087 D %E® RAL5017 |10 M20 20 72,351,335 20,5|8,5|12| 30 2,8 20 60
03099-11-071020187 D ¥ RAL 5017  |10| M20x1,5 20 72,3 |51,3|35|20,58,5|12| 30 2,8 20 60
03099-11-07122087 D E® RAL5017 |12 M20 20 72,351,335 20,5|8,5|12| 30 3 20 60

© norelem www.norelem.com



03099-11 (hEHEREE

03099-11-071220187 D #E® RAL5017 [12| M20x1,5 20 72,3 |51,3(35|20,5(8,5(12| 30 3 20 60
03099-11-07041088 D e RAL 7035 | 4 M10 10 39,526,320 10,9 |49|6 | 17 1 8 14
03099-11-070410188 D e RAL 7035 |4 M10x1 10 39,5263 20| 10,9 |49|6 | 17 1 8 14
03099-11-07051088 D & RAL7035 |5 M10 10 39,526,320 10,9 |49|6 | 17 1,3 8 14
03099-11-070510188 D & RAL 7035 5 M10x1 10 39,526,320 10,9 |49|6 | 17 1,3 8 14
03099-11-07061088 D X RAL 7035 |6 M10 10 39,526,320 10,9 |49|6 | 17 1,8 8 14
03099-11-070610188 D e RAL7035 |6 M10x1 10 39,526,320 10,9 |49|6 | 17 1,8 8 14
03099-11-07051288 D & RAL 7035 5 M12 12 48,431,125/ 12,9 |5;7|8 | 19 1,3 8 15
03099-11-070512188 D K& RAL7035 |5 | M12x1,5 12 48,431,125/ 129 |57 |8 | 19 1,3 8 15
03099-11-07061288 D & RAL7035 |6 M12 12 48,431,125/ 12,9 /5,78 | 19 1,8 8 15
03099-11-070612188 D LB RAL7035 6| M12x1,5 12 484 |31,1|25/129|57|8 | 19 1,8 8 15
03099-11-07081288 D it RAL 7035 |8 M12 12 48,431,125/ 12,9 |57|8 | 19 2,3 8 15
03099-11-070812188 D U RAL7035 |8 | M12x1,5 12 484 |31,1|25/129|57|8 | 19 2,3 8 15
03099-11-07061688 D & RAL7035 |6 M16 16 62,3 41532 16,6 | 7 |10| 24 1,8 15 35
03099-11-070616188 D i RAL7035 [6| M16x1,5 16 62,3 |41,5|32/ 16,6 | 7 |10] 24 1,8 15 35
03099-11-07081688 D & RAL7035 |8 M16 16 62,3 41532/ 16,6 | 7 |10| 24 2,3 15 35
03099-11-070816188 D X RAL7035 |8 | M16x1,5 16 62,3 |41,5|32(16,6| 7 |10] 24 2,3 15 35
03099-11-07101688 D & RAL 7035 |10 M16 16 62,3 41532/ 16,6 | 7 |10| 24 2,8 15 35
03099-11-071016188 D & RAL7035 [10| M16x1,5 16 62,3 |41,5|32( 16,6 | 7 |10| 24 2,8 15 35
03099-11-07082088 D e RAL 7035 |8 M20 20 72,351,335/ 20,5|85|12| 30 2,3 20 60
03099-11-070820188 D i RAL7035 [8| M20x1,5 20 72,3|51,3|35]/20,58,5|12] 30 2,3 20 60
03099-11-07102088 D & RAL 7035 |10 M20 20 72,351,335 20,5|8,5|12| 30 2,8 20 60
03099-11-071020188 D & RAL7035 [10] M20x1,5 20 72,3|51,3|35/20,58,5|12| 30 2,8 20 60
03099-11-07122088 D & RAL 7035 |12 M20 20 72,351,335 20,5|8,5|12| 30 3 20 60
03099-11-071220188 D e RAL 7035 [12| M20x1,5 20 72,3|51,3|35|20,5|8,5|12| 30 3 20 60

© norelem www.norelem.com



